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Problems

Cuts based on photometric observations

-> t0 and X1 to be well constrained to efficiently select light curves with good sampling
-> SNe with limited extinction by dust in the Milky-Way. 
-> Select SNe within specific color, X1 range. 

Cut based on spectroscopic observations

-> Remove peculiar SNe Ia
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Problems

A SN can pass all the cuts but are poorly sampled which is not good for the 
training sample!!

-> Need a visual inspection… so it is not the best (Tmax wqs changing when changing ZP)

Betoule+14



  

Ideas

Look at the chi2 for different Tmax
→Using sncosmo fit all the LC with Tmax, x0, x1, c as free parameters
→Fit all the LC with Tmax fixed and x0, x1, c as free parameters

ZTF18aadzfso
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Ideas

Compare uncertainties from sncosmo and from chi2 curve
→From chi2 curve look at the Tmax for chi2+Δchi2(1σ,dof)

Δchi2(1σ,dof=1)
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Future work

First use JLA
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Future work

First use JLA
→ Understand weird cases
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